Carbon Structures and Functional Groups
For problems 1-4, refer to these compounds
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1. Convert each of the following condensed structures to a skeletal structure. Remember that lone pairs should
always be shown.

5/
pd
N Ay 3 3 \
NS )\’5/\ A NNTN A~ (\\
< Y 4 | 4 ! \)
y ¥ N

?U\)YW 4 - (w)_\'L -l\ r\j,,évaz\_g ’L—o()&(f\‘( ‘L-,Y\\,;;OLU\V"V‘ \30\’{;(/‘*

2. Name each of the compounds.
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3. Draw one isomer of each compound from problem 1. State whether it is a structural or stereocisomer.
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4. Which compound is will have the highest solubility in water? Explain your answer.
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5. Draw the skeletal structure of a four carbon compound that contains each functional group. ?oSS\ s
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Refer to these compounds for the remaining questions:
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6. Convert each of these structures to a condensed Lewis structure. Remember that lone pairs should always be

shown. 07
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7. ldentify the common functional group present on each compound.
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8. Draw one |somer of each compound. If the type of functional group changes, determine what the new group is.
/\/(\ A - u ‘o \‘k
-- \ ,q o-
NO Drenin K0 T~F - \4 o NS
. 5 eng, N A
\ A&l de

ActivityKeys Page 3



